
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

INSTALLATION 
INSTRUCTIONS 

 READ ALL INSTRUCTIONS BEFORE USING. 

 NOTE: ASSISTANCE IS NEEDED WITH THIS 

PRODUCT INSTALLATION. 

 FAILURE TO READ INSTRUCTIONS BEFORE 

USE COULD RESULT IN INJURY OR DEATH. 

 

UNIVERSAL PLASTIC TRACTOR 
AND LAWN MOWER TOP/CANOPY  

 

At
la

nt
ic

 So
ut

h P
la

st
ic

s, 
In

c. 
84

88
 R

oy
st

on
 H

ig
hw

ay
 

R
oy

st
on

, G
eo

rg
ia

 3
06

62
 

__
__

__
__

__
__

__
__

 
__

__
__

__
__

__
__

__
 

__
__

__
__

__
__

__
__

 
__

__
__

__
__

__
__

__
 

 



 
 
 
 
 
 
   
 
 
 
 
 
 
 
 
 
  

CONTENTS: See Fig. 1 

 

Page 2  INSTALLATION INSTRUCTIONS 

FIG. 1 

Contents – SEE FIG. 1: 
1 Composite Top w/ Frame; 
2 Angle Mounting Brackets; 
2 Flat Mounting Plates; 
4 3/8”x3.5” Hex Bolts; 
4 5/16”x2” Hex Bolts; 
8 3/8” Flat Washers 
8 5/16” Flat Washers; 
4 3/8” Nylon Lock Nuts; and 
4 5/16” Nylon Lock Nuts. 
 

**NOTE** PLEASE REMOVE ALL PARTS FROM 
BOX AND CHECK AGAINST THE CONTENTS 
LIST BEFORE BEGINNING ASSEMBLY. ANY 
MISSING OR DAMAGED PARTS NEED TO BE 
REPORTED TO ATLANTIC SOUTH PLASTICS. 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

 
What Is Covered: All defects in materials or workmanship, except slight 
imperfections in plastic or powder coating, on Atlantic South Plastics, 
Inc.’s Universal Plastic Tractor or Lawn Mower Top/Canopy properly 
installed per provided instructions.  
 
For How Long: This warranty, and any implied warranties including 
merchantability and fitness for a particular purpose, last for one (1) 
year from the date of purchase if the attached Warranty Card is mailed 
in. The warranty is not transferable from the original purchaser. 
 
What Atlantic South Plastics Will Do: During the applicable warranty 
period listed above, Atlantic South Plastics will, at its option, either 
repair or replace any defective product at no charge. You must pay any 
labor or shipping charges associated with removing or reinstalling the 
product. If a specific product has been discontinued, Atlantic South 
Plastics may, at its option, replace your product with a current product of 
comparable function and value. 
 
What These Warranties Will Not Cover: These warranties do not 
cover any damage, defect, or malfunction caused by misuse, abuse, 
accident, improper installation, modification, improper or inadequate 
maintenance, or on-road and off-road hazards. Incidental and 
consequential damages are not recoverable under this warranty. 
Some states or provinces do not allow the exclusion or limitation of 
incidental or consequential damages, so this exclusion or limitation may 
not apply to you. 
 
How To Get Service: A defective product may, during the warranty 
period listed above, be returned to the place of purchase. Alternatively, 
you may contact Atlantic South Plastics Customer Relations directly at 
1-706-245-7075 to obtain information on how to obtain service. Proof of 
purchase must accompany all warranty returns. Returns made to 
Atlantic South Plastics will not be accepted without prior authorization 
from Atlantic South Plastics. 

How Does State Law Apply?: This warranty gives you specific legal 
rights, and you may have other rights which vary from state to state or 
province to province. 

 

This warranty statement supersedes all previous warranty 
statements in Atlantic South Plastics catalogs or other marketing 
materials. 

 

WARRANTY INFORMATION 

Page 6  INSTALLATION INSTRUCTIONS ATLANTIC SOUTH PLASTICS Page 3 

FIG. 2 

FIG. 3 
STEP 2 – SEE FIG. 3 Install (2) Angle Mounting Brackets 
to Canopy frame using (4) 5/16”x2” Hex Bolts, (8) 5/16” 
Flat Washers, and (4) 5/16”-18 Nylon Lock Nuts. 
**NOTE** MOUNTING PLATES CAN BE MOUNTED TO 
THE INSIDE OR OUTSIDE  AND FRONT OR BACK 
HOLES OF THE CANOPY FRAME TO ACCOMMODATE 
YOUR ROPS POSITION. 

 
 

STEP 1 – SEE FIG. 2 Determine if Roll Over Protection 
System (ROPS) is forward leaning, straight, or rear leaning. 
This will determine the mounting holes used on canopy 
frame. 

 
 



 
         
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  

FIG. 6 

Page 4  INSTALLATION INSTRUCTIONS ATLANTIC SOUTH PLASTICS Page 5 

FIG. 4 

STEP 3 – SEE FIG. 4 The(2) Angle Mounting Brackets 
can be mounted level or at a forward or rear angle to 
provide level canopy after installation. 

 
 

FIG. 5 

STEP 5 – SEE FIG. 6 Tighten all hardware securely. 
 

 

 
 
• CANOPY DOES NOT OFFER ANY ADDITIONAL 

ROLLOVER PROTECTION. 
• NEVER ALLOW ANYONE TO SIT OR STAND ON 

CANOPY. 
• CANOPY IS NOT INTENDED TO TRANSPORT ANY 

CARGO AND/OR EQUPIMENT. 

For more information about this or other products, 
contact us at: 

Atlantic South Plastics, Inc. 
8488 Royston Highway, Royston, GA 30662 

(706) 245-7075 – www.atlanticsouthplastics.com 

STEP 4 – SEE FIG. 5 With Assistance, raise Canopy 
assembly to the roll bar. Using (4) 3/8” Hex Bolts, (8) 3/8” 
Flat Washers, and (4) 3/8” Nylon Lock Nuts, attach (2) Flat 
Mounting Plates to (2) Angle Mounting Brackets with 
ROPS in-between. 
 

 
 


	INSTALLATION INSTRUCTIONS
	Atlantic South Plastics, Inc.
	Royston, Georgia 30662
	UNIVERSAL PLASTIC TRACTOR AND LAWN MOWER TOP/CANOPY
	________________
	________________
	________________
	________________
	CONTENTS: See Fig. 1
	Page 2  INSTALLATION INSTRUCTIONS
	WARRANTY INFORMATION
	Page 6  INSTALLATION INSTRUCTIONS
	ATLANTIC SOUTH PLASTICS Page 3
	Page 4  INSTALLATION INSTRUCTIONS
	ATLANTIC SOUTH PLASTICS Page 5

